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For primary haloalkanes
you need a bulky base
like KOtBu (also written: 
t-BuOK)



To make Grignards
you NEED the ether
solvent



This needs to have
both enantiomers drawn
as well as the word
"racemic"



The order of the addition
of reagents MUST be
indicated



Remember, Grignards are
strong bases, so it will simply
deprotonate that alcohol
instead of doing the
desired SN2 => This WILL
NOT GIVE THE DESIRED
PRODUCTS!











image2.emf



Br
OH OH



Racemic



KOtBu



O O



MgBr1)



2) HCl/H2O
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CN triple bonds
are linear.
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